

The Commutator Subalgebra and Schur Multiplier of a Pair of Nilpotent Lie Algebras

Farshid Saeedi, Ali Reza Salemkar, and Behrouz Edalatzadeh

Communicated by G. Ólafsson

Abstract. Let (L, N) be a pair of finite dimensional nilpotent Lie algebras, in which N is an ideal in L . In the present article, we prove that if the factor Lie algebras L/N and $N/Z(L, N)$ are of dimensions m and n , respectively, then the commutator subalgebra $[L, N]$ is of dimension at most $\frac{1}{2}n(n + 2m - 1)$, and also determine when $\dim([L, N]) = \frac{1}{2}n(n + 2m - 1)$. In addition, we introduce the notion of the Schur multiplier $\mathcal{M}(L, N)$ of an arbitrary pair (L, N) of Lie algebras, and show that if N admits a complement K in L with $\dim(N) = n$ and $\dim(K) = m$, then the dimension of $\mathcal{M}(L, N)$ is bounded above by $\frac{1}{2}n(n + 2m - 1)$. In this case, we characterize the pairs (L, N) for which $\dim(\mathcal{M}(L, N))$ is either $\frac{1}{2}n(n + 2m - 1)$ or $\frac{1}{2}n(n + 2m - 1) - 1$.

Mathematics Subject Classification 2000: 17B30, 17B60, 17B99.

Key Words and Phrases: Lie algebra, Schur multiplier, cover.

1. Introduction and preliminary

All Lie algebras are considered over a fixed field Λ and $[\ , \]$ denotes the Lie bracket.

Let L, N be two Lie algebras. By an action of L on N we mean a Λ -bilinear map $L \times N \rightarrow N, (l, n) \mapsto {}^l n$ satisfying

$$[{}^{l,l'}n] = {}^{l'}({}^l n) - {}^l({}^{l'}n) \quad \text{and} \quad {}^l[n, n'] = [{}^l n, n'] + [n, {}^l n'],$$

for all $l, l' \in L$ and $n, n' \in N$. Evidently, if L is a subalgebra of some Lie algebra P and N is an ideal in P , then the Lie multiplication in P induces an action of L on N . In fact, $l \in L$ acts on $n \in N$ by ${}^l n = [l, n]$.

Given the action of L on N , we define the *L-commutator subalgebra* of N to be the subalgebra $[L, N]$ generated by elements of the form ${}^l n$ with $l \in L, n \in N$, and the *L-central* of N to be the central subalgebra $Z(L, N) = \{n \in N \mid {}^l n = 0, \text{ for all } l \in L\}$. In particular, if N is an ideal in L then $[L, N]$ and $Z(L, N)$ denote the usual commutator subalgebra and the centralizer of L in N , respectively. In this case, we define $Z_2(L, N)$ to be the pre-image in N of $Z(L/Z(L, N), N/Z(L, N))$.

Let (L, N) be a pair of Lie algebras, where N is an ideal in L . Then we define the *Schur multiplier* of the pair (L, N) to be the abelian Lie algebra $\mathcal{M}(L, N)$ appearing in the following natural exact sequence of Lie algebras

$$\begin{aligned} H_3(L) &\longrightarrow H_3(L/N) \longrightarrow \mathcal{M}(L, N) \longrightarrow \mathcal{M}(L) \longrightarrow \mathcal{M}(L/N) \\ &\longrightarrow L/[L, N] \longrightarrow L/L^2 \longrightarrow L/(L^2 + N) \longrightarrow 0, \end{aligned}$$

where $\mathcal{M}(-)$ and $H_3(-)$ denote the Schur multiplier and the third homology of a Lie algebra, respectively. This is analogous to the definition of the Schur multiplier of a pair of groups given by Ellis [4] (see also [7,8]). In [5], it is proved that $\mathcal{M}(L, N) \cong \ker(N \wedge L \rightarrow L)$, in which $N \wedge L$ denotes the non-abelian exterior product of Lie algebras. Also using the above sequence, one may easily observe that if the ideal N possesses a complement in L , then $\mathcal{M}(L) \cong \mathcal{M}(L, N) \oplus \mathcal{M}(L/N)$. In this case, for any free presentation $0 \rightarrow R \rightarrow F \rightarrow L \rightarrow 0$ of L , $\mathcal{M}(L, N)$ is isomorphic to the factor Lie algebra $(R \cap [S, F])/[R, F]$, where S is an ideal in F such that $S/R \cong N$. In particular, if $N = L$, then the Schur multiplier of (L, N) will be $\mathcal{M}(L) = (R \cap F^2)/[R, F]$ (see [3,6,10,11]).

A pair (L, N) of finite dimensional nilpotent Lie algebras is said to be *Heisenberg* provided $[L, N]$ and $Z(L, N)$ are the same subalgebras of dimension one. In the special case $N = L$, the Lie algebra L must be of odd dimension.

Let L be a Lie algebra with central factor Lie algebra of dimension n . Then Moneyhum [9] proved that $\frac{1}{2}n(n-1)$ is an upper bound for the dimension of the derived subalgebra L^2 . She also showed that the dimension of the Schur multiplier of a Lie algebra of dimension n is bounded above by $\frac{1}{2}n(n-1)$. Using these results, Batten et al. [2] obtained the following two theorems.

Theorem. *Assume that L is a finite dimensional nilpotent Lie algebra such that $\dim(L/Z(L)) = n$. If $\dim(L^2) = \frac{1}{2}n(n-1)$, then $L/Z(L)$ is either abelian or $H(1)$, where $H(1)$ denotes the Heisenberg algebra of dimension 3.*

Theorem. *Let L be an n -dimensional nilpotent Lie algebra. Then*

- (i) $\dim(\mathcal{M}(L)) = \frac{1}{2}n(n-1)$ if and only if L is abelian.
- (ii) $\dim(\mathcal{M}(L)) = \frac{1}{2}n(n-1) - 1$ if and only if $L = H(1)$.

Now in this article, we extend the above results to a pair of finite dimensional nilpotent Lie algebras, as follows.

Theorem A. *Let (L, N) be a pair of finite dimensional nilpotent Lie algebras with L/N and $N/Z(L, N)$ of dimensions m and n , respectively. Then*

- (i) $\dim([L, N]) \leq \frac{1}{2}n(n+2m-1)$.
- (ii) *If $\dim([L, N]) = \frac{1}{2}n(n+2m-1)$, then either $N/Z(L, N)$ is an abelian Lie algebra or the pair $(L/Z(L, N), N/Z(L, N))$ is Heisenberg.*

Theorem B. *Let (L, N) be a pair of finite dimensional nilpotent Lie algebras and K be the complement of N in L . Assume N and K are of dimensions n and m , respectively. Then the following statements hold:*

- (i) $\dim(\mathcal{M}(L, N)) + \dim([L, N]) \leq \frac{1}{2}n(n + 2m - 1)$.
- (ii) If L is abelian, then $\dim(\mathcal{M}(L, N)) = \frac{1}{2}n(n + 2m - 1)$.
- (iii) If $\dim(\mathcal{M}(L, N)) = \frac{1}{2}n(n + 2m - 1)$, then N is abelian.
- (iv) If $\dim(L/(L^2 + N)) = k$ and $\dim(N/(L^2 \cap N)) = d$, then $\frac{1}{2}d(d + 2k - 1) \leq \dim(\mathcal{M}(L, N)) + \dim([L, N])$.
- (v) If $\dim(\mathcal{M}(L, N)) = \frac{1}{2}n(n + 2m - 1) - 1$, then either N is central or the pair (L, N) is Heisenberg.

2. Proof of theorems

Let (L, N) be a pair of finite dimensional nilpotent Lie algebras with $\dim(L/N) = m$ and $\dim(N/Z(L, N)) = n$. It is readily verified that for any vector $z \in Z_2(L, N) - Z(L, N)$, $[L, z] \subseteq [L, N] \cap Z(L, N)$ and the adjoint map $\text{ad } z : L \rightarrow [L, z]$ is an epimorphism such that $\ker(\text{ad } z) = C_L(z)$ contains the ideal $[L, N] + Z(L, N)$. We consider two non-negative integers $a(z)$ and $b(z)$ such that

$$a(z) = \dim([L, z]) \quad \text{and} \quad b(z) = \dim\left(\frac{L/[L, z]}{Z(L/[L, z], N/[L, z])}\right).$$

Since $Z(L, N) \subset \langle z, Z(L, N) \rangle \subseteq C_L(z)$, $a(z) = \dim(L/C_L(z)) < \dim(L/Z(L, N)) = m + n$. Also, $z + [L, z] \in Z(L/[L, z], N/[L, z]) - (Z(L, N)/[L, z])$ yields that

$$b(z) < \dim\left(\frac{L/[L, z]}{Z(L, N)/[L, z]}\right) = m + n.$$

The following lemmas shorten the proof of Theorem A.

Lemma 2.1. *Using the above assumptions and notations, we have*

- (i) $\dim([L, N]) \leq \frac{1}{2}n(n + 2m - 1)$.
- (ii) Suppose for some non-negative integer s we have $\dim([L, N]) = \frac{1}{2}n(n + 2m - 1) - s$;
then $\dim([L/Z(L, N), N/Z(L, N)]) \leq s + 1$.

Proof. (i) Let $\{\bar{x}_1, \dots, \bar{x}_n\}$ be a basis of $N/Z(L, N)$. Extend this set to a basis of $L/Z(L, N)$, say $\{\bar{x}_1, \dots, \bar{x}_n, \bar{x}_{n+1}, \dots, \bar{x}_{n+m}\}$. Then $[L, N]$ is spanned by $\{[x_i, x_j] \mid 1 \leq i \leq n \text{ and } i < j \leq m + n\}$.

(ii) Choose a vector $z \in Z_2(L, N) - Z(L, N)$. Then

$$\dim\left(\frac{N/[L, z]}{Z(L/[L, z], N/[L, z])}\right) = b(z) - m \leq n - 1,$$

and hence part (i) indicates that $\dim([L/[L, z], N/[L, z]]) \leq \frac{1}{2}(n - 1)(n + 2m - 2)$. Therefore $\frac{1}{2}n(n + 2m - 1) - s = \dim([L, N]) \leq \frac{1}{2}(n - 1)(n + 2m - 2) + a(z)$, and then $a(z) \geq n + m - s - 1$. Since $[L, N] + Z(L, N)$ is an ideal in L contained in $C_L(z)$, it follows that

$$\dim\left(\frac{L}{[L, N] + Z(L, N)}\right) \geq \dim\left(\frac{L}{C_L(z)}\right) = a(z) \geq n + m - s - 1.$$

Alternatively, $(L/Z(L, N))/([L, N] + Z(L, N))/Z(L, N) \cong L/([L, N] + Z(L, N))$. Hence, the last inequality yields

$$\dim\left(\left[\frac{L}{Z(L, N)}, \frac{N}{Z(L, N)}\right]\right) = \dim\left(\frac{L}{Z(L, N)}\right) - \dim\left(\frac{L}{[L, N] + Z(L, N)}\right) \leq s + 1.$$

This completes the proof. \blacksquare

Lemma 2.2. *Using the above assumptions and notations, if*

$$\dim\left(\left[\frac{L}{Z(L, N)}, \frac{N}{Z(L, N)}\right]\right) = s + 1 - k$$

for some $0 \leq k \leq s + 1$, then for all $z \in Z_2(L, N) - Z(L, N)$, $a(z) \leq m + n - 1 - s + k$. In particular, if $k = 0$ then $a(z) = m + n - s - 1$ and $C_L(z) = [L, N] + Z(L, N)$.

Proof. From the proof of Lemma 2.1 and the hypothesis, we have

$$\begin{aligned} n + m - s - 1 \leq a(z) &= \dim\left(\frac{L}{C_L(z)}\right) \leq \dim\left(\frac{L}{[L, N] + Z(L, N)}\right) \\ &= \dim\left(\frac{L/Z(L, N)}{[L/Z(L, N), N/Z(L, N)]}\right) = n + m - 1 - s + k, \end{aligned}$$

for all $z \in Z_2(L, N) - Z(L, N)$. Now, assuming $k = 0$, the above inequalities imply that $a(z) = m + n - s - 1$, and so $C_L(z) = [L, N] + Z(L, N)$, as required. \blacksquare

Now, we are ready to prove Theorem A.

Proof. [Theorem A] (i) It has proved in Lemma 2.1(i).

(ii) By applying Lemma 2.1(ii) in the case $s = 0$, we have

$$\dim([L/Z(L, N), N/Z(L, N)]) \leq 1.$$

If $\dim([L/Z(L, N), N/Z(L, N)]) = 0$, then $N/Z(L, N)$ is central in $L/Z(L, N)$. So, suppose that $\dim([L/Z(L, N), N/Z(L, N)]) = 1$. Since $L/Z(L, N)$ is nilpotent, by [12, Proposition 7], $[L/Z(L, N), N/Z(L, N)] \cap Z(L/Z(L, N)) \neq 0$ and hence

$$[L/Z(L, N), N/Z(L, N)] \subseteq Z_2(L, N)/Z(L, N).$$

We claim that $\dim(Z_2(L, N)/Z(L, N)) = 1$. Assume, to the contrary, that there exist vectors $x, y \in Z_2(L, N) - Z(L, N)$ such that $x + Z(L, N)$ and $y + Z(L, N)$ are linearly independent in $Z_2(L, N)/Z(L, N)$. By Lemma 2.2, $C_L(x) = [L, N] + Z(L, N) = C_L(y)$ and thus $y \in C_L(x)$. But $\dim(C_L(x)/Z(L, N)) = \dim(L/Z(L, N)) - \dim(L/C_L(x)) = n + m - (n + m - 1) = 1$. This is a contradiction to the linear independence of $x + Z(L, N)$ and $y + Z(L, N)$. Therefore, $\dim(Z_2(L, N)/Z(L, N)) = 1$ and the pair $(L/Z(L, N), N/Z(L, N))$ is Heisenberg. \blacksquare

Now we obtain the following corollary which is of interest in its own account.

Corollary 2.3. *Let (L, N) be a pair of finite dimensional nilpotent Lie algebras with $\dim(L/N) = m$, $\dim(N/Z(L, N)) = n$, and $\dim([L, N]) = \frac{1}{2}n(n + 2m - 1) - s$ for some $s \geq 0$. If there is a $z \in Z_2(L, N) - Z(L, N)$ such that $a(z) = m + n - 1 - s$, then $b(z) = m + n - 1$ and the factor Lie algebra $\frac{N/[L, z]}{Z(L/[L, z], N/[L, z])}$ is abelian or the pair $\left(\frac{L/[L, z]}{Z(L/[L, z], N/[L, z])}, \frac{N/[L, z]}{Z(L/[L, z], N/[L, z])}\right)$ is Heisenberg.*

Proof. By Lemma 2.1(i),
 $\dim([L/[L, z], N/[L, z]]) \leq \frac{1}{2}(b(z)(b(z) - 1) - m(m - 1)).$

Consequently,

$$\begin{aligned} \frac{1}{2}n(n + 2m - 1) - s = \dim([L, N]) &= \dim\left(\left[\frac{L}{[L, z]}, \frac{N}{[L, z]}\right]\right) + \dim([L, z]) \\ &\leq \frac{1}{2}(b(z)(b(z) - 1) - m(m - 1)) + m + n - 1 - s, \end{aligned}$$

whence $b(z) = m + n - 1$. Hence $\dim\left(\frac{N/[L, z]}{Z(L/[L, z], N/[L, z])}\right) = n - 1$ and $\dim\left(\left[\frac{L}{[L, z]}, \frac{N}{[L, z]}\right]\right) = \frac{1}{2}(n - 1)(n + 2m - 2)$. Therefore, Theorem A(ii) gives the result. ■

To prove Theorem B, we need the following definition and propositions.

Definition 2.4. A Lie homomorphism $\sigma : N^* \rightarrow L$ together with an action of L on N^* is called a *cover* (or *covering pair*) of the pair (L, N) of Lie algebras if the following conditions hold:

- (i) $\sigma(N^*) = N$;
- (ii) $\sigma({}^l n) = {}^l \sigma(n)$, for all $l \in L, n \in N^*$;
- (iii) $\sigma({}^{\sigma(n_1)} n) = {}^{n_1} n$, for all $n, n_1 \in N^*$;
- (iv) $\ker \sigma \subseteq Z(L, N^*) \cap [L, N^*]$;
- (v) $\ker \sigma \cong \mathcal{M}(L, N)$.

One may readily observe that a cover $\sigma : N^* \rightarrow L$ of the pair (L, L) together with action ${}^l n = \sigma(n_1)n$, where $l = \sigma(n_1)$ for some $n_1 \in N^*$, gives the usual notion of a covering Lie algebra N^* of L . The following result gives the existence of cover of a given pair (L, N) , in which N has a complement in L . In special case, when L is finite dimensional and $N = L$ then the result of Batten and Stitzinger [1] is obtained.

Proposition 2.5. *Let (L, N) be a pair of Lie algebras such that N has a complement in L . Then (L, N) admits at least one cover.*

Proof. Let $0 \rightarrow R \rightarrow F \rightarrow L \rightarrow 0$ be a free presentation of L and S an ideal in F such that $N \cong S/R$. Let $T/[R, F]$ be a complement of $\mathcal{M}(L, N)$ in $R/[R, F]$, for some suitable ideal T in F . Consider the mapping $\sigma : S/T \rightarrow F/R$

given by $\sigma(s + T) = s + R$ together with the action ${}^{f+R}(s + T) = [f, s] + T$, for all $f \in F$ and $s \in S$. Then for each $s_1, s_2 \in S$, $f \in F$, $r \in R$, we have

$$\begin{aligned} \sigma({}^{f+R}(s_1 + T)) &= \sigma([f, s_1] + T) = [f, s_1] + R = {}^{f+R}\sigma(s_1 + T), \\ \sigma({}^{s_1+T}(s_2 + T)) &= {}^{s_1+R}(s_2 + T) = [s_1, s_2] + T = {}^{s_1+T}(s_2 + T), \\ {}^{f+R}(r + T) &= [f, r] + T = T. \end{aligned}$$

Also $\sigma(S/T) = S/R$ and $\ker \sigma \cong \mathcal{M}(L, N)$. Moreover,

$$\frac{R}{T} \subseteq \frac{[F, S] + T}{T} = \langle {}^f s + T \mid f \in F, s \in S \rangle = \langle {}^{f+R}(s + T) \mid f \in F, s \in S \rangle = \left[\frac{F}{R}, \frac{S}{T} \right].$$

Therefore $\sigma : S/T \rightarrow F/R$ is a cover of (L, N) . ■

Proposition 2.6. *Let (L, N) be a pair of finite dimensional Lie algebras such that N has a complement in L . Then*

$$\dim(\mathcal{M}(\frac{L}{L^2}, \frac{N + L^2}{L^2})) \leq \dim(\mathcal{M}(L, N)) + \dim([L, N]).$$

Proof. Let $0 \rightarrow R \rightarrow F \rightarrow L \rightarrow 0$ be a free presentation of L and S an ideal in F such that $N \cong S/R$. Then

$$\mathcal{M}(\frac{L}{L^2}, \frac{N + L^2}{L^2}) \cong \frac{(F^2 + R) \cap [F^2 + S, F]}{[F^2 + R, F]} = \frac{[F^2 + S, F]}{[F^2 + R, F]} = \frac{[S, F] + [F^2, F]}{[R, F] + [F^2, F]}.$$

So,

$$\begin{aligned} \dim(\mathcal{M}(L, N)) + \dim([L, N]) &= \dim(\frac{R \cap [S, F]}{[R, F]}) + \dim(\frac{[S, F]}{R \cap [S, F]}) \\ &= \dim(\frac{[S, F]}{[R, F]}) \geq \dim(\mathcal{M}(\frac{L}{L^2}, \frac{N + L^2}{L^2})), \end{aligned}$$

as required. ■

Now we are able to prove Theorem B.

Proof. [Theorem B] Let homomorphism $\sigma : N^* \rightarrow L$ together with an action of L on N^* be a cover of (L, N) . We define a homomorphism $\psi : K \rightarrow \text{Der}(N^*)$ given by $\psi(k) = \psi_k$, where $\psi_k : N^* \rightarrow N^*$ is a derivation given by $\psi_k(x) = {}^k x$, in which ${}^k x$ is induced by the action of L on N^* . Set H to be the semidirect sum of N^* by K . Then it is easily seen that the subalgebras $[L, N^*]$ and $Z(L, N^*)$ are identical with the commutator subalgebra $[H, N^*]$ and the centralizer of N^* in H , $Z(H, N^*)$, respectively. If $\delta : H \rightarrow L$ is the mapping defined by $\delta(x + k) = \sigma(x) + k$, for all $x \in N^*$ and $k \in K$, then it can be shown that δ is an epimorphism with $\ker \delta = \ker \sigma$. Also, the factor Lie algebras $H/Z(L, N^*)$ and $N^*/Z(L, N^*)$ are isomorphic to L and N , respectively.

(i) Since $\dim(H/N^*) = m$ and $\dim(N^*/Z(L, N^*)) \leq \dim(N^*/\ker \sigma) = n$, Lemma 2.1(i) shows that $\dim([H, N^*]) \leq \frac{1}{2}n(n + 2m - 1)$. Now, the isomorphisms $[L, N] \cong [H, N^*]/\ker \sigma$ and $\ker \sigma \cong \mathcal{M}(L, N)$ follows the result.

(ii) Since the exact sequence $0 \rightarrow N \rightarrow L \rightarrow K \rightarrow 0$ splits, $\mathcal{M}(L) \cong \mathcal{M}(L, N) \oplus \mathcal{M}(K)$. By [9; Lemma 2.3], $\dim(\mathcal{M}(L)) = \frac{1}{2}(m+n)(m+n-1)$ and $\dim(\mathcal{M}(K)) = \frac{1}{2}m(m-1)$. So, $\dim(\mathcal{M}(L, N)) = \frac{1}{2}n(n+2m-1)$, as required.

(iii) If $\ker \sigma$ is a proper subalgebra of $Z(L, N^*)$, then the above discussion indicates that $\dim(H/N^*) = m$ and $\dim(N^*/Z(H, N^*)) = \dim((N^*/Z(L, N^*))) \leq n-1$. So, using Lemma 2.1(i) and part (i), $\dim(\mathcal{M}(L, N)) = \frac{1}{2}n(n+2m-1) \leq \dim([H, N^*]) \leq \frac{1}{2}(n-1)(n+2m-2)$. Hence we must have $m+n \leq 1$ and L is abelian.

Now, suppose that $\ker \sigma$ is equal to $Z(L, N^*)$, then $\dim([H, N^*]) = \frac{1}{2}n(n+2m-1)$. So, by Theorem A(ii), either $N^*/Z(H, N^*)$ is abelian or the pair $(N^*/Z(H, N^*), H/Z(H, N^*))$ is Heisenberg. If (L, N) is Heisenberg then

$$\dim([L, N]) + \dim(\mathcal{M}(L, N)) = \frac{1}{2}n(n+2m-1) + 1,$$

which contradicts to part (i). Therefore in both cases N is abelian.

(iv) Proposition 2.6 and part (iii) yield the result.

(v) Suppose that $\ker \sigma$ is a proper subalgebra of $Z(L, N^*)$. As part (iii), we conclude that $\frac{1}{2}n(n+2m-1) \leq \dim([H, N^*]) \leq \frac{1}{2}(n-1)(n+2m-2)$, and so $m+n \leq 2$. Hence the possible values for the pair (m, n) must be one of the following cases:

$$(m, n) = (1, 0), (0, 1), (1, 1), (2, 0), (0, 2).$$

It is readily seen that the values $(1, 0), (0, 1), (0, 2)$ are impossible. Moreover, if $(m, n) = (2, 0)$ or $(1, 1)$ then $\dim(L) = 2$ and $\dim(\mathcal{M}(L)) = 0$, which is a contradiction to [2; Theorem 3]. Therefore, we must have $\ker \sigma = Z(L, N^*)$. By the assumption and Lemma 2.1(i), $\frac{1}{2}n(n+2m-1) - 1 \leq \dim([L, N^*]) = \dim([H, N^*]) \leq \frac{1}{2}n(n+2m-1)$. Now, if $\dim([H, N^*]) = \frac{1}{2}n(n+2m-1) - 1$ then either N is abelian or the pair (L, N) is Heisenberg. If $\dim([H, N^*]) = \frac{1}{2}n(n+2m-1)$ then $[H, N^*] = \mathcal{M}(L, N) = Z(H, N^*)$ and so, again N is abelian. This proves the theorem. ■

The following examples show that both outcomes obtained in the assertion (v) of Theorem B occur.

Examples: (i) Let $L = H(m) \oplus A$, where $H(m)$ denotes the Heisenberg algebra of dimension $2m+1$ and A is a 1-dimensional Lie algebra. Then it is easy to verify that A is a central ideal in L , $\dim(\mathcal{M}(L)) = 2m^2 + m - 1$ (by [1; Example 3]) and $\dim(\mathcal{M}(L, A)) = 2m$.

(ii) Let $\{f, g, z\}$ be a basis for $H(1)$ with $[f, g] = z$. Then $H(1)$ is a semidirect sum of $\langle f, z \rangle$ by $\langle g \rangle$, the pair $(H(1), \langle f, z \rangle)$ is Heisenberg and $\dim(\mathcal{M}(L, A)) = 2$.

Acknowledgement: F. Saeedi gratefully acknowledges the financial support from Islamic Azad University, Mashhad-Branch, Iran.

References

- [1] Batten, P., and E. Stitzinger, *On covers of Lie algebras*, Comm. Algebra **24** (1996), 4301–4317.
- [2] Batten, P., K. Moneyhun, and E. Stitzinger, *On characterizing Lie algebras by their multipliers*, Comm. Algebra **24** (1996), 4319–4330.
- [3] Bosko, L., *On Schur multipliers of Lie algebras and groups of maximal class*, Int. J. Algebra and Computations **20** (2010), 807–821.
- [4] Ellis, G., *The Schur multiplier of a pair of groups*, Appl. Categ. Structures **6**, (1998), 355–371.
- [5] —, *A non-abelian tensor product of Lie algebras*, Glasgow Math. J. **39** (1991), 101–120.
- [6] Levy, L., *Multipliers for a derived Lie algebra, a matrix example*, Int Electronic J. Algebra, **9** (2011), 69–77.
- [7] Moghaddam, M. R. R., A. R. Salemkar, and K. Chiti, *Some properties on the Schur multiplier of a pair of groups*, J. Algebra **312** (2007), 1–8.
- [8] Moghaddam, M. R. R., A. R. Salemkar, and T. Karimi, *Some inequalities for the order of Schur multiplier of a pair of groups*, Comm. Algebra **36** (2008), 1–6.
- [9] Moneyhun, K., *Isoclinisms in Lie algebras*, Algebra, Groups and Geometries **11** (1994), 9–22.
- [10] Salemkar, A. R., V. Alamian, and H. Mohammadzadeh, *Some properties of the Schur multiplier and covers of Lie Algebras*, Comm. Algebra **36** (2008), 697–707.
- [11] Salemkar, A. R., B. Edalatzaeh, and H. Mohammadzadeh, *On covers of perfect Lie algebras*, Algebra Colloquium, to appear.
- [12] Stitzinger, E. L., *On the Frattini subalgebra of a Lie algebra*, J. London Math. Soc. **2** (1970), 429–438.

Farshid Saeedi
Department of Mathematics
Islamic Azad University
Mashhad-Branch, Iran
saeedi@mshdiau.ac.ir

Ali Reza Salemkar
Faculty of Mathematical Sciences
Shahid Beheshti University, G.C.
Tehran, Iran
salemkar@sbu.ac.ir

Behrouz Edalatzaeh
Department of Mathematics
Faculty of Science, Razi University
Kermanshah, Iran
edalatzaeh@gmail.com

Received December 20, 2010
and in final form January 29, 2011